EA966CD—1~—16

&k

(RF—)L8IE/SL—kh5—)

2R

MM SR O BREN AR/ L —R AT DHF—TT,
BRI BRRHES YIS ICRETY

RE | S F [ MY [FRATUT
¢ BH8| o D+01| L=+01 é d R W X Y M s
CD—1 5 20 10 45 3.75 1 6 4 M4XP0.7 | M4X10
CDh—2 6 20 10 45 3.75 1 6 4 M4XP0.7| M4X10
CD—3 8 25 10 45 3.75 1.5 8 5 M4XP0.7 | M4X12
CD—14 10 30 10 45 3.75 1.5 9 5 M4XP0.7 | M4X12
CD—5 12 30 10 45 3.75 1.5 10 5 M4XP0.7 | M4X12
CD—6 13 30 10 45 3.75 1.5 10 5 M4XP0.7 | M4X12
CD—7 15 35 12 55 45 1.5 12 6 M5XP0.8| M5X16
CD—8 16 35 12 55 45 1.5 12 6 M5XP0.8| M5X16
CD—9 20 40 12 45 3.75 1.5 14 7 M4XP0.7| M4X16
CD—10| 25 45 12 55 45 1.5 17 7 M5XP0.8| M5X16
CD—11 25 50 15 7 6 1.5 18 10 | M6XP1.0| M6X25
CD—12| 30 55 15 7 6 1.5 20 10 | M6XP1.0| M6X25
CD—13| 35 60 15 7 6 2 23 12 | M6XP1.0| M6X25
CD—14| 40 70 18 9 7 2 26 13 | M8XP1.75| M8X30
CD—15| 45 75 18 9 7 3 28 14 | M8XP1.75| M8X30
CD—16]| 50 85 22 11 9 3 32 16 | M10XP1.5|] M10X35
(AL mm)
I
i 1 & ; e
M = 1
=t T Fr-l\ i
1 L.~ "
f' f
|
&
A . 2.M




